Grade 12
Applied. .. .
Mathematics

Grade 12 Applied

Quiz DEBRIEF

/] A WEEKZ

LT [N Afeb 20273



GRADE 12 APPLIED Name:
WEEKLY QUIZ WEEK 2 Date:

STANDARD ASSESSMENT INSTRUCTIONS

Use your single sheet ‘study notes’ (cheat sheet). You may use open
book this\one last final time.| No more I

Make liberal use of graphic organizers to focus your thoughts. Orn,h &;d{
Use technology to its full effect. (eq: fractions on the calculator)

No social media during assessments if using your own devicel
Round any decimal answers (including percentages) to nearest 0.0

Each individual question is worth two marks unless otherwise

indicated.

SHOW WORK FOR BEST MARK

(To allow for ‘b/fs and T/t's and to help you organize your thoughts &
readily check your answer)
Individual questions are two marks each unless otherwise indicated
Tick the box at right if you read these instructions, 0. (1 Mark)
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1. For the fair spinner at the right:

a. Determine how many equally

likely gutcomes there are:
> 8

b. Calculate the probability of
spinning a GREEN; P(GREEN)?

507, or /a,

=5 c. If you were to spin the spinner
200 times, calculate the number

of times, on average, you expect s % yn %L\t ge a6
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Use the Pascal Triangle method
2. Pathways A

a. Determine the number of
different routes (paths) you can
get from A to B. (you must
always advance towards

destination) 9.y, mg's caunﬂ”gf u,s._:,;‘
%scql 'Il.h.lﬁ.ha,(d.

b. determine the probability
you happen to randomly wander
past point Z.on the L.qua, B
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2. Pathways ﬂ B NN, HU” .s._buutustm&
a. Determine the number of . W 2 dis tﬂhﬁ uishable [
different routes (paths) you can a,rnmie,mgu'f'_s LdCa., .

get from A to B. (you must .
always advance towards L; az”’]
destination) [
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Do Question 3 or 4, but not both
3. Tony is having breakfast. He has a choice of three cereals: Shreddies
(‘S?), Fruit Loops (‘F’), or Rice Crispies (‘R’). He has a choice of juices:
Apple (‘A’) or Orange(‘O’). [1 mark each]
-—? a. Draw the outcome tree (graphic organizer).

b. State the set of outcomes, ie: the sample space {SA, etc.....}.

c. Determine [assuming of course that he randomly chooses] the
probability he has Shreddies and Apple Juice.

d. Determine the probability he does NOT have Orange Juice with
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4. Mr F has 10 students in the class. He has three coupons for Timmies:
Coffee, Sandwich, and Donut. He puts everyone’'s name in a hat. When

he draws names he does not replace them. Determine the three different
individual cases below:

a. Determine the number of possible ways MrF can handout the
three coupons if randomly drawing names from a hat.

b. Determine instead the number of possible ways MrF can handout /(9 &.["/
the three coupons when drawing the names from the hat if he cheats
and makes sure that when he draws he selects Malcolm to get the
Donut coupon.
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Do Question 5 or 6, Not Both. G—entruu&
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5. State (ie: no need to show work; unless you need to of course because

you have no calculator that does these) the value of the following
Permutations:

a. 7P, =42 b. P(10,0) e ;opo
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6. State in a grammatically correct sentence words the difference between

Probability and Odds.

Probability is a comparison of favourable events to all possible events.

Odds For something is a comparison of favourable events to the not favourable events (generally using af:’

Odds Against an event a comparisn? of not favourable events : favourable events (generally using a ')
Eq~ P(a): 22~ <2 odds for- A= #AZH NT A
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7. Determine how many ways you can make distinguishable

arrangements of all the letters in the word: BANANA £20
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The three A's can be swapped around 3! or 6 different ways ﬁ??ﬁﬂﬁﬁHEHb
The two N's can be swapped around 2! or 2 different ways

8. Odds. If the probability of an event, A, occurring is 75%, what are the
Odds in Favour of event A?
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0gve -
Did this multiple times in Grade 10 and Grade 11.

Half dozen ways to do it! Doesn’'t have to be

Probability methods!!
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10. Bonus. Determine how many ways seven people at a conference —
shake hands with each other? [1 mark] i D
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BONUS (1 mark each) Show workl)
It is time for Grad Photos.
a. How many ways can we put five grads in a line for a photo?

b. If there are three boys and two girls how many ways can we p
the five grads in a line if it must alternate boy, girl

c. how many ways can we line up the grads if the two tallest boy ~ 2 fussiu(‘
J ers
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Determined to Deliver Baby!



